





SUBSCRIBE PRO WATCHLIST







#1 hospital in the U.S. for Orthopedics.

HEALTH CARE

HEALTH CARE HOSPITALS PHARMA EQUIPMENT & SERVICES HEALTH INSURANCE HEALTH CARE IT

MODERN MEDICINE











Medical Bills Are the Biggest Cause of US Bankruptcies: Study

Dan Mangan | @_DanMangan Tuesday, 25 Jun 2013 | 2:29 PM ET



Stigur Karlsson | E+ | Getty Images

Bankruptcies resulting from unpaid medical bills will affect nearly 2 million people this year—making health care the No. 1 cause of such filings, and outpacing bankruptcies due to credit-card bills or unpaid mortgages, according to new data. And even having health insurance doesn't buffer consumers against financial hardship.

The findings are from NerdWallet Health, a division of the pricecomparison website. It analyzed data from the U.S. Census, Centers for Disease Control, the federal court system and the Commonwealth Fund, a private foundation that promotes access, quality and efficiency in the health-care system.

"A lot of Americans are struggling with medical bills," said NerdWallet Health Vice President Christina LaMontagne.

Stream →

The latest in cloud technology.

InterConnect 2017

Live and on-demand on **IBMGO**

FROM THE WEB

Sponsored Links by Taboola

Managing and Living with Atopic Dermatitis Livestrong for Healthline

NerdWallet estimates that households containing 1.7 million people will file for bankruptcy protection this year.

Even outside of bankruptcy, about 56 million adults—more than 20 percent of the population between the ages of 19 and 64—will still struggle with health-care-related bills this year, according to NerdWallet Health.

And if you think only Americans without health insurance face financial troubles, think again. NerdWallet estimates nearly 10 million adults with year-round health-insurance coverage will still accumulate medical bills that they can't pay off this year.

High-deductible insurance plans requiring consumers to pay more outof-pocket costs are a challenge for many households.

"With an average American family bringing home \$50,000 in income, a high medical bill and a high-deductible insurance plan can quickly become something they are unable to pay," LaMontagne said. "If you have an out-of-pocket maximum of \$5,000 or \$10,000, that's really tough," he said.

The analysis of rising health costs is the first of its kind for NerdWallet.

(Read More: Making a Case for Self-Funded Health-Care Plans)

Medical Bankruptcy by Age

Age Range ▼	% of Total Bankruptcies 2013, Estimated	•	US Medical- Related Bankruptcies 2013, Estimated	\$	Size of Household *	People Living in Households with medical- Related Bankruptcy 2013, Estimated
18-24	2.3%		14,618		2.41	35,229
25-34	18.7%		120,708		2.86	344,622
35-44	28.9%		186,812		3.35	624,888
45-54	26.4%		170,875		2.81	480,159
55-64	15.8%		102,080		2.18	222,534
65+	8.0%		51,719		1.76	90,767

Source: NerdWallet Health Analysis

Obamacare 'Not a Panacea'

With millions buried under medical bills, more insured under the Affordable Care Act will not completely solve that problem, LaMontagne said. While the ACA's reforms will indeed give more people coverage, NerdWallet's data shows that millions of people with year-round, full coverage are still overwhelmed by medical bills, she said.

"I don't think Obamacare is going to get rid of the situation," LaMontagne said. "The data suggests that already-insured Americans are struggling. With the expansion of insurance, it doesn't seem like that problem will go away entirely. It's not a panacea."

(Read More: Health-Care Cost Inflation Slows)

This Stock Could Be Like Buying Apple in 2007
The Motlev Fool

The New Order of Business in the Internet of Things
- Infographic
IBM Content

Best Stock for 2017 News-Today

by Taboola

WikiLeaks founder reveals a 'bombshell' about Russian hacking, Kellyanne Conway says

Ken Langone: Trump could turn out to be one of America's best presidents

Japan plans to send largest warship to South China Sea, sources say

Art Cashin warns that there's something 'disturbing' happening in the market

Ivanka Trump's billionaire landlord is suing the US government

President Trump's \$50 St Patrick's Day cap with big mistake sells out online

MOST POPULAR



A site once run by Steve Bannon just leaked audio of Paul Ryan dumping Trump in October



Early movers: DIS, GLW, DGX, DSW, MGI, ABT & more



Rising rates will speed up the clock

The number of medically related bankruptcies is slightly less than the rate of recent years. Despite the anticipated 2013 dip, such bankruptcies represent about three out of every five filings.

"A lot of Americans probably think about bankruptcy as coming from unpaid credit-card debt or mortgages," LaMontagne said. "But the root cause of all those troubles may well be medical bills."



Not surprisingly, more than 11 million people will take on additional credit-card debt to cover mounting medical bills, LaMontagne said. Because credit cards often charge high interest rates for unpaid balances, debt only mounts, creating a vicious cycle for consumers.

Meanwhile, NerdWallet found, 15 million people will deplete their savings to cover medical bills. Another 10 million will be unable to pay for necessities such as rent, food and utilities because of those bills.

Skipping Prescription Medications

When their savings are gone and their credit cards are maxed out, stretched consumers take the drastic step of cutting back on prescription medications.

More than 25 million people are skipping doses, taking less medication or delaying refilling prescriptions to save money, NerdWallet found.

"That statistic is actually quite troubling," LaMontagne said. Delaying needed medication is a short-term fix that only triggers more health problems in the long term, she said.

—By CNBC's Dan Mangan. Follow him on Twitter @danpostman



Dan Mangan Reporter

MORE FROM CNBC

by Taboola

WikiLeaks founder reveals a 'bombshell' about Russian hacking, Kellyanne Conway says



on retail's \$3.7 billion time bomb



GOP bill raises premiums for older, poor Americans by more than 750%



How one Apple bull plans to make 174 percent by betting on the tech giant

Sponsored

- 1. Top Bank Savings Accounts
- 2. Reverse Mortgage Calculator
- 3. Best IRA Savings Account
- 4. Best Retirement Plans
- 5. #1 Reverse Mortgage Calculator

Ken Langone: Trump could turn out to be one of America's best presidents

Japan plans to send largest warship to South China Sea, sources say

Art Cashin warns that there's something 'disturbing' happening in the market

Ivanka Trump's billionaire landlord is suing the US government

President Trump's \$50 St Patrick's Day cap with big mistake sells out online

FROM THE WEB

Sponsored Links by Taboola

This Stock Could Be Like Buying Apple in 2007

The Motley Fool

The New Order of Business in the Internet of Things - Infographic IBM Content

Quicken Loans Urges Homeowners To Switch To A 15-Year Fixed QuickenLoans, NMLS #3030

Best Stock for 2017

News-Today

A New Solution That Stops Snoring and Lets You Sleep

Snore B Gone

How Healthy Is Your Sales Cycle?

Salesforce

Sponsored					
Easy Business Loans	Bankruptcy Law				
Bank Owned Properties	Avoid Bankruptcy				
Money Management Tips	Online Tax Calculator				
Debt Management Plans	Debt Settlement Tips				
Bad Credit Loans	File for Bankruptcy				

MARCUS LEMONIS IS LOOKING FOR THE PARTNER

